Math 320 Linear Algebra
Assignment # 8

. Suppose the X,Y and Z are sets (don’t assume they are sets of vectors they are just sets). Let
f:X—=>Yandg:Y — Z. Provethat go f: X — Z is onto then g is onto. If you are new to
proving things are onto, this video should help:

Proving Functions are Onto

. Show that vector space properties 4,5 and 9 hold for the vector space P, (that is the space of
polynomials of degree n or less.)

This video might help: Polynomial Vector Spaces

. The polynomials  + 1 and x? 4 2 are “vectors” in the vector space Pp. Describe the set span(z +
1,22 +2).

. Let V be a vector space.
(a) Show that if 7,% € V and ¥+ & = 0 then @ = —7.
(b) Show that if ¥ € V' then (—1)7 = —7.

This video might help: Vector Space Proofs


https://sandiego.hosted.panopto.com/Panopto/Pages/Viewer.aspx?id=6280f0e1-3936-4393-a973-ae67016ab3eb
https://sandiego.hosted.panopto.com/Panopto/Pages/Viewer.aspx?id=bf6baf74-78f3-450b-8179-ae6a0189a9a8
https://sandiego.hosted.panopto.com/Panopto/Pages/Viewer.aspx?id=a8218525-e905-45cb-9638-ae6b0007d2cc

